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import sys

sys.path.append("statlib")

from exact import Fisher_exact_test

Fisher_exact_test(x, y=NULL, exact=TRUE, method="Fisher", hybrid=FALSE, loop=10000,

verbose=True)}
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import sys
sys.path.append("statlib")
from exact import Fisher_exact_test

a = Fisher_exact_test(x)

Fisher's Exact Test for Count Data

chisq = 3.3963, df =6, p value = 0.75771
exact p value = 0.80911 (Fisher)

24871 tables are inspected.
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import numpy as np
np.random.seed(12345) # EBELHZLSTEL W
a = Fisher_exact_test(x, hybrid=True)

Fisher's Exact Test for Count Data



chisq = 3.3963, df = 6, p value = 0.75771
simulated p value = 0.81450

based on 10000 times simulation.
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a = Fisher_exact_test(x, method="Pearson")

Fisher's Exact Test for Count Data

chisq = 3.3963, df = 6, p value = 0.75771
exact p value = 0.78782 (Pearson)

24871 tables are inspected.
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a = Fisher_exact_test(x, method="Pearson", hybrid=True)

Fisher's Exact Test for Count Data
chisq = 3.3963, df = 6, p value = 0.75771
simulated p value = 0.79270

based on 10000 times simulation.
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[1’ 2’ 3, 2! 11 2’ 3, 2! 1’ 2, 3! 21 2’ 3, 1]
y = [llAll’ IlBll’ llCll],"-S
a Fisher_exact_test(x, y)

Fisher's Exact Test for Count Data
chisq = 1.2857, df = 4, p value = 0.86379
exact p value = 1.00000 (Fisher)

180 tables are inspected.
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THERE LT, rpy2 24 Y A =L LTEL,
pip install rpy2
o, UWTFDXHITHITT 5,

import numpy as np

import rpy2.robjects.numpy2ri

from rpy2.robjects.packages import importr
rpy2.robjects.numpy2ri.activate()



stats = importr(’stats’)

m = np.array([[4,4],[4,5],[10,6]]) # WMREITBDHDBRDESE
res = stats.fisher_test(m) # fisher.test #C &)
print ("pvalue: {}’.format(res[0][0])) # P {E (&
print(res)

print (type(res))

print(np.array(res).shape)

print(res[0][0])

print(res[1][0])

print(res[2][0])

print(res[3][0])




